A & 0ol & AF S H Al A

APAEE 204 AR Z0DIZSYSHEY
200 HIgiae!
2210 BARHLISY
& 216 Ol Xi+¢! (SHol: &2
T-u-8-5 O & o eI HimE==D
5 472,381 482,941 210,560
200 K24 1,500 0 1,500
210 FAHNISI4L 500 0 500
216 01Xt 500 0 500
216-01 ZZOIZ0IX4L 500 0 500
< MEIZTD > 500 0 500
OO0l X4l 500,000 500
220 YAIEH 214 1,000 0 1,000
224 JIEF2 1,000 0 1,000
224-07 1912 1,000 0 1,000
< MEIZTD > 1,000 0 1,000
OJIEH: 1,000,000 1,000
500 2x2 84,294 %,716 £9,422
510 2D2X3S 61,13 69,608 £8,472
511 2NBEIS 61,136 69,608 £8,472
511-01 2DEX3 61,13 69,608 £8,472
< MEIZTID > 61,13 69,608 ~8,472
0=222%3 61, 136,0002! 61,13
520 Al - THIBEIS 23,158 24,108 A950
521 Al - SHIE X3S 23,158 24,108 £950
521-01 Al - CHIHE2S 23,158 24,108 £950
< MEIZTD > 23,158 24,108 2950
OAl - CHIEES 23, 158,0002 23,158
EREEITE PR 386,567 389,225 £2,638
710 BEAYUS 29,702 22,850 6,852
711 Yoi2 2,83 8,850 £6,018
711-01 =HAL0I2 2,83 8,850 £6,018
< MEIZXD > 2,83 8,850 £6,018
O=HHY0IZ 2,882,002 2,83
712 MET0IR2 26,870 14,000 12,870
712-02 Al - SHIBESAIS TS 26,870 14,000 12,870
< MEIZXD > 26,870 14,000 12,870
OAl - CHIEZS BT 26,870,002 26,870
720 L1 2f 356,885 366,375 £9,4%0
721 HUZ 356,885 366,375 £9,4%0
721-08 JIEFEIHFH S 356,885 366,375 £9,4%0
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